XYZ,,=100.93, 100.0 , 64.68

o= 2 [ (x-%,) T4
biboizly
=1, by=-04 59G,
%, = 0,110,B, = 1,300 B==
Cagz=[AS+B1" 54

6 OstwaldFarben (o)

von maximalem (m)C,,

linearen Farbenraum (CAE 2Y)
Lichtart P40, ¥,,=100 Y,=0 SBd

Name Bereich X, v x“
573775 7025 4125 o T 3694 soo 493

498775906 9535 418 04765 05014 576 468

498_573 20,55 54.29 413 0.2602 06873 540 540c

380_573 30.88 58.94 64.64 0.1999 0.3815 493 600 Parameter:

380_498 1052 4.84 60.63 0.1384 0.0637 468 576 Y & Name

573 498 8057 459 60.68 0.4305 0.2452 540c540 f

380_775 100.9800.0 64.68 0.3799 0.3764 100% Lichtart P40

3077501 01 006 03798 03763 0% Y,,=100 Y,=0

380_775 18.16 180 1164 0.3799 0.3764 18%

Z==000<2
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